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QUESTION 1

An administrator is upgrading a vSphere Distributed Switch. The existing switch is version 5.0 and the
administrator wants to upgrade to the latest version possible. The environment contains several ESXi 5.1
hosts.

Which two options are available to ensure that the upgraded switch will be compatible with these hosts?
(Choose two.)

A. Upgrade the vSphere Distributed Switch to 5.5

B. Upgrade the ESXi 5.1 hosts to version 5.5, then upgrade the vSphere Distributed Switch to 5.5

C. Upgrade the vSphere Distributed Switch to 5.1

D. Upgrade the ESXi host switches to 5.5, then upgrade the vSphere Distributed Switch to 5.5

Correct Answer: BC

QUESTION 2

A mission-critical virtual machine built on vSphere 4.1 needs to be moved to an ESXi 6.x host. Which virtual hardware
version is needed to move the virtual machine without upgrading?

A.6
B.7
C.10
D.11

Correct Answer: B

QUESTION 3

A vSphere Administrator sees the alarm:

vSphere HA virtual machine failed to failover

This occurred for a number of virtual machines on a particular ESXi host in a cluster with vSphere High
Availability (HA) enabled. The virtual machines guest operating systems never reported a power event.
What happened?

A. The virtual machines were vMotioned off of the ESXi host.
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B. The ESXi host is still running but has disconnected from the network.
C. The ESXi host failed and vSphere HA successfully failed over the virtual machines.
D. The previous virtual machine cloning operations failed to complete.

Correct Answer: C

QUESTION 4

Which feature of vSphere 6.x enables organizations to move virtual machines across data centers?
A. Long Distance vMotion

B. Content Library

C. Auto Deploy

D. Replication

Correct Answer: A

QUESTION 5

Which of the following options are configurable in a Resource Pool? (Choose two.)
A. CPU affinity

B. CPU Shares

C. Startup/Shutdown order

D. Memory Limit

Correct Answer: BD
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